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I'H: P-Q H ¢ dom(T)
T-P->Q

r-P->Q TP
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->1
->1

H1:AH2:BF A
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FA->B->A
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(->P)
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(VP)

I'-Vx :T,P:Prop
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I' = s(M;) =s(Mz)

(INJS)
I+ M1 = M2
I'-0=s(M) I' - P :Prop
(CONTRANAT)
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I + PO I, y : nat, H : Ply] + P[S(y)]
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I' - Vz : nat, P[x]
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I'  P[true] I' - Plfalse]
I' - Vx : bool, Plx]
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S 0+S(S0)«S(S(S0)) THFSO:nat TFS(S0):nat

TFS O0=x ASSUMPTION

LFS0+5(5 0) =555 0) _
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FVx,x+0=x
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Theorem foo : forall x:nat, x =1 ->x + 2 = 3.
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intros > 000 VI
reflexivity =1
apply AssumpTION, VE, ->E 0000
rewrite AssumpTiON 0 =E 0000
induction, destruct INnpNAT OO 0O InpDBoOOL
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InJS, CoNTRANAT, CONTRABOOL (0 =E 000O)
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Vq : nat,Vr : nat,q=r->plus q q = mult r 2
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plus 2 2 = mult x 2
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Tl 0:nat T-ZERO

T-Succ
I' S 0:nat
TEP ASSUMPTION TF 2 nat T_SU‘(;’CE
I'+Vr:nat,(2 = r) ->plus 2 2 = mult r 2

' (2 =x)->plus 2 2 = mult x 2

Tl x:nat T-VAR
\v
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r't2 X"E
'k plus 2 2 = mult x 2 e




